[image: image4.png]23. A bullet of mass m is fired at speed vy into  wooden block of mass M. The bullet
instantaneousty comes to tes ia the block. The block with the embedded bullet stides
along 2 horizontal surface with a coeffcient of kinetic fiction .
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Which one of the following espressions defermines how far the block slides before it

comes torest (e magnitude of isplacement s in the fgute)?
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A. What is the magnitude of the total impulse of the force acting on the block?

B. What approximately, is the speed of the block at t=11 seconds
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